| Efficiency vs Dxy |

0.5
<

S
] St s
S

>
D0 AE bbb
c

(D)

.....................................

...................................

...................................

0.95,

—-25 20 15 10 5 O

5 10 15 20 25
TP dxy (cm)

| Efficiency vs Dz |

KEt_TTorginal
kFit_TToriginal-106
kFit_TTNE
KEit_ TTNEWHSMS
kFlt‘TTNEWHSMSQ

[{]

N 0.5
o

Y B
& F i : ;
L e e
Q C H H :
§0.35 e Frorreneenes frorereees A
o F : : :
I R B
VL] S e o o R T
= SO e e
0.2F e . .
= W* R
S T + """"" EE TX S
ol e
0J0]:] SRR RS e e
- '+4'.|....i....i#.+.....|.

20 30
TP dz (cm)

10




	Contents
	Page 1


